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Which of the following
was/were the reason/s why The
Cabinet Mission rejected the
plea for the partitibn of the
country ?

a. It would not solve the
problem of the communal
minorities.

b. Partition of Bengal and
Punjab would be contrary
to the wishes of the people
in those provinces.

c. A division of the Punjab
would necessarily involve
a division of the Sikh
community.

Select the correct answer using
the code given below :

(1) aonly

(2) aandbonly
(3) aandconly
(4) a,bandc

The ruler-.of which of the
following.States wanted to join
Pakistan. and failed in that

effort ?

(1) Junagadh

(2) Hyderabad

(3) Jammu and Kashmir

(4) Travancore

(3-D)

Which of the Princely states
was not taken over by Lord
Dalhousie under the Doctrine of
Lapse ?

(1)
(3)

(2) Jhansi
(4) Nagpur

Satara
Kittur

Which day observed as National
Girl Child Day ?

(1) 24" January
(2) 24™ March
(3) 8" January
(4) 8™ March

Which . of the following

statement/s is/are correct ?

a. Battle of Plassey was
fought in 1775.

b. Robert Clive was
victorious in the battle of
Plassey.

c. The seizure of power in the
provinces of Bengal and
Bihar was a decisive step
in the building of the
territorial empire of the
British.

Select the correct answer using

the codes given below.

(1) aonly

(2) bonly

(3) bandconly
(4) a,bandc
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Nicotinic
causes the disease in
human beings.
- (1) Pellagra
(3) Cancer

The person is called the senior
citizen under the Act “Welfare
and Maintenance of Senior
Citizen and Parents Act-2007"
when he/she attains the age of
(1) fifty eight and above

(2) sixty five and above

(3) seventy and above

(4) sixty years and above

Which  Article of Indian
Constitution shows the
importance  of pre-school

education to all children below
6 years of age ?

(1) Art-21 (A) (2) Art-45
(3) Art-51 (A) (4) Art-46

Which  of the following

statement is incorrect ?

(I) Money Bill cannot-be
introduced in Rajya Sabha.

(2) Rajya Sabha has no‘power
to reject constitutional
amendment.

(3) Rajya Sabhahas no power to
pass vote-of no confidence.

(4) Rajya “Sabha can make

recommendations on Money
Bill.

Acid deﬁciéncy

(2) Diphtheria
(4) Anemia

(5-D)

10.

11.

12.

13.

Attorney-General of India has

(1) the right of audience in all
High Courts only.

(2) the right of audience in all
courts in the territory of
India only.

(3) the right of audience in
Supreme Court of India
only.

(4) the right of~audience in
Parliament only.

To empower  persons with
disabilities National Institute for
the Visually Handicapped is set
up by Govt. of India at

(1) “Kolkata (2) Mumbai
(3) Cuttack (4) Dehradun

Which among the following is
not an All India Service ?

(1) Indian Administrative Service
(2) Indian Police Service

(3) Indian Forest Service

(4) Indian Foreign Service

Which  of the

following
Amendments

bifurcated the
National Commission for
Scheduled Castes and

Scheduled Tribes Into  two

Separate  and - independent
Commissions ?

(1) 86™ Amendment Act
(2) 85" Amendment Act
(3) 89™ Amendment Act
(4) 90™ Amendment Act
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Bhopal gas trargedy occurred
due to the release of

(I) Methane

(2) Methyl isocyanate

(3) Sulphur dioxide

4) All

Which “of the following Acts
provided the division of powers
into three lists : the federal, the
provincial and the concurrent ?

(1) The Government of India
Act, 1935

(2) The Indian Councils Act of
1909

(3) The Government of India
Actof 1919

(4) The Indian Councils Actof
1892

Who decides whether a bill is a
money bill or not ?

(1) The Finance Minister
(2) The'Speaker |
(3) ThePresident

(4)  The Prime Minister

Acid rain is mainly because of
(I) Water pollution

(2) Air pollution

(3) Soil pollution

(4) All of the above

18.

19.

20.

21.

22,

Sunderbans have type
of forest.

(1) Mangroves (2) Deciduous
(3) Scrub (4) Evergreen

Temperature decreases in the
atmosphere as we move from

(1) Earth surface to
Stratopause

(2) Stratopause to Mesopause

(3) Mesopauseto
Thermosphere

(4)" Thermosphere to
lonosphere

Endangered species are
recorded in a book called

(1) Red data book
(2) Yellow data book
(3) Herbarium

(4) Green data book

Main pollutant from rice field is
) cO. 2 co,

(3) CH, (4) HNO,

Kaziranga National
famous for

Park is

(1) . Indian rhinoceros
(2) Elephant

(3) Bears

(4) Tiger
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KYOTO Protocol 1s a land mark
event in the global climate
mitigation negotiations :

(1)

first
towards

Because it was the
concrete  step
GHG reduction.

Because it was accepted by
majority of the countries.

(2)

(3)

Because it gave a
systematic approach for
carbon trading.

(4) Because it was rejected by
developed countries.

Biosphere includes
(1)
(2)
(3)
(4)

Atmosphere
Lithosphere
Hydrosphere
All

Present percentage of ~ forest
cover of India is around

(H 21 % 2) 25%

(3) 2% 4) 30%

Solar energy 1s a

(1) Renewable source of
energy

(2) Non-renewable source of
energy

(3) Chemical form of energy

(4) Kinetic energy

(9 -

D)

27

28.

29.

Who
total
Income Tax. between Central
and State

decides  distribution  of

revenue  from  personal

Government

Governments ?
(1) State Planning Commission
(2)
(3)

Finance Commission
National Planning
Commission
All  the
Commissions

above three

(4)

Primary 'source of energy on
this earth 1S

(1). Petrol

(2) Nuclear energy

(3)" Solar energy

(4) Fossil fuel

Global warming causes

(1) increase in temperature
(2) melting of glaciers

(3) raise in the sea levels
(4) All the above

Increase in  the price of
commodity *X" will increase the
demand for commodity “Y'.

Therefore

(1) X' and 'Y' are neutral
goods.
) X and & 3 are

complementary goods.

(3) X" and YY" are substitute
goods.

(4) X' and YY" arc inferior
200ds.
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Which one of the following i1s a
feature of Regional Rural Bank ?

(1) It is sponsored by R.B.I.

(2) It 1s a refinancing agency
to land banks.

It 1s urban-oriented bank.

(4)

It gives direct loans to poor

farmers, artisans  and

craftsmen 1n backward-

hilly areas.

Which is/are the function/s of
SEBI ?

(1)

Prohibiting insiders trading

in securities.

(2)

Promoting and .regulating
self regulatory organisations.
(3) Regulating the business in
stock exchange.

(4) All of'the above

. ‘Bank at the apex of short term

agriculture co-operative credit

structure.

(1) State Co-operative Bank
(2) Central Co-operative Bank
(3) State Bank of India

(4) Land Development Bank

(11

34. Balabandhu Samaj was
organised by
(1) Krishna Rao Haldipurakar
(2) S.N. Hardikar
(3) Giribhat Narasimhachar
(4) M. Venkataramanayya
35. Varahi underground . Hydro-
electric Project is located at
(1) Shimoga district
(2),~Chickmagalur district
(3). Mandya district
(4) Mangalore district
36. Which one of the following
places gets air transport services
in 1932 for the first time In
Karnataka ?
(1) Bengaluru
(2) Mysore
(3) Bellary
(4) Belgaum
37. “Poverty and Un British Rule in

-D)

India™ this book was written by
(1) Dadabhai Naoroji

(2) Motilal Nehru

(3) Mahatma Gandhi

(4) Gopal Krishna Gokhale
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The Foot and Mouth Disease in
Cattle & Buffaloes caused by

(1) Bacteria  (2) Virus
(3) Protozoa (4) Moulds

The Cattle & Buffaloes are
breed by using semen is called

(1)
(2)
(3)
(4)

Artificial insemination
Castration
Immunization

Pasteurization

The famous scientist who
invented the vaccine against
Rabies disease

(1) Edward Jenner
(2) Louis Pasteur
(3) Galileo

(4) SirC.V. Raman

The Father of White Revelution
in India

(1) Dr. Verghese Kurien
(2) Norman-Borlaug

(3) . Amartya Sen

(4) " Jagadish Chandra Bose

The country which produces
highest milk in the world

(1) India
(2) America (USA)
(3) Brazil
(4) China

(13-D)

43.

44.

46.

Who among the following
persons was the founder father
of five year plans ?

(1) Sardar Vallabhbhai Patel
(2) Mahatma Gandhi

(3) Lal Bahadur Shastri

(4) Pandit Jawaharlal Nehru

What is the main goal of
NRHM ?

(1) Achieve the goals during
the Mission period.
(2)

Reduce death of mothers
during pregnancy.

(3) To bring improvement in
the health system and the
health status of the people,
especially those who live
in the rural areas of the

country.
(4) Medicines to all.

. What is the latest Fertility Rate

in Karnataka ?
(1) 2.1
3) 1.3

1.9
1.0

(2)
(4)

What is meant by JSY ?

(1) Jyothi Sanjeevini Yojana
(2) Jeevan Sandhya Yojana
(3) Janani Suraksha Yojana

(4) Jeevan Sanjeevini Yojana
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(1)
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3)
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Road Infrastructure
Development Fund
Rural Infrastructure
Development Fund
Rail Infrastructure
Development Fund
Regional Infrastructure
Development Fund
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In India, inflation is measured
using

(1)
(2)
(3)
(4)

Consumer Price Index
Wholesale Price Index
Cost of Living Index

Consumer Price Index for
Industrial Workers

Out of the following schemes

which is the Self Employment
Scheme ?

(1) MGNREGA
(2) IREP

(3) DPAP

(4) NRLM

The fastest growing activity of
Indian economy 1s

(1) Agriculture

(2) = Manufacturing

(3) Finance, Insurance, real
estate and _ ‘business
services

(4) Trade, Hotels and
Restaurants

The- district with the lowest per
capita income in Karnataka 1s
(1) Yadagirl

2y € hamarajanagar

3) C hikkaballapura

(4) Raichur

(15-D)

51.

52.

53.

54.

Which one of the following is

NOT an  objective  of

MGNREGS ? o

(1) Providing employment to
unskilled workers.

(2) Construction of durable
community assets in rural
areas.

(3) Promoting formation of
SHGs.

(4) Arresting <migration 10
cities.

“NITI Ayoga” has replaced

(1) Finance Commission

(2). Justice Commission

(3) Planning Commission

(4) Foreign Trade Commission

The largest item of exports from
Karnataka belongs to

group.

(1) Electronics,
Software & BT
Readymade Garments
Silk Products
Engineering Products

Computer

(2)
3)
4)

RIDF stands for

(1) Road Infrastructure
Development Fund
Rural Infrastructure
Development Fund
Rail Infrastructure
Development Fund
Regional Infrastructure
Development Fund

(2)
(3)

(4)
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Find the next number in the
SCTIES |

4, 5, "). I (‘i. 2(\‘ E
(1 <44 (2)
{3) 36 (4) 39

RN

A girl 1s swinging in a swing in
the sitting position. How is the
period of swing affected if she
stands up ?

(1) Time period remains same
(2) Time period will decrease
(3) Time period will increasc
(4) Time period will become

infinite

Out of the following which is
not emitted by radioactive
substance ?

(1) Electrons

(2) o particles

(3) Neutrons

(4) Electro-magnetic radiations

Ozone layer of earth's

atmosphere

(1). absorbs UV radiations

(2) allows UV radiations to
reach the carth

(3) absorbs the long
wavelength radiations
coming from the sun

(4) allows no radiations  to
reach the carth

(17-D)

60.

6l.

A picce of string is 40 cm long.
It is cut into three pieces. The
longest piece is three times as
long as the middle size piece
and the shortest piece is 23 cm
shorter than the longest piece.
Find the length of the shortest

piece.

(1) 4 (2) 3

3) 9 (4).(6

In a certain=code. APRIL is
written as. DSULO, then
AUGUST is written as

(1 BVYHVTU

(2) (DXIXVY

(3). DWIWUV

(4) DXIXVW

A man bought 80 kg of salt for
T 88 and was obliged to sell it at
a loss of as much money he
received for 20 kg. At what
price did he sell the salt ?

(1
(2)
(3)
(4

99 paise per kg
83 paise per kg
88 paise per kg
75 paise per kg

40 men can complete one work
in 20 days. In how many days
50 men can complete 1t ?
(h 12 (2) 15
(3 16 (4) IS
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Eukaryotic cells have

(1) No nucleus

(2) Primitive nucleus

True nucleus

(3)
(4)

Both primitive and true
nucleus

Which of the following is not a
Union Territory of India ?

(1) Lakshadweep

(2) Goa

(3) Dadra and Nagar Haveli

(4) Andaman and Nicobar

A  shopkeeper bought” a
refrigerator for Z .9,000. After
allowing a discount of 20% on
it, he gains 30%. Then the

matked price of the refrigerator

s

(1) ¥ 14,600
(2) T 14,625
(3) T 14,650

4) T 14,675

(19 - D)

67.

68.

66. Who among the following is not

a Jnanpith awardee ?

(1)
(2) Shivaram Karanth

Kuvempu

(3) U.R. Anantamurthy
(4) P. Lankesh

The Bhusa uproar in Karnataka

was raised by-who among the

following ?

(1) _Gokak Chaluvali

(2) (B. Basavalingappa

(3). Devaraya Ingale

(4) Dalit Sangarsha Samiti

Which of the following

Government of India Acts

provided for the establishment

of Union and State Public

Service Commissions for the

first time ?

(1) The Govt. of India Act,
1935

(2) The Govt. of India Act,
1919

(3) The Constitution of
Independent India

(4) The Lee Commission
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Nerve cells do *pot
because they do not have

divide

(1) Nucleus

(2) Centrosome
(3) Golgi body
(4) Mitochondria

As per 2011 Census the sex
ratio of India is

(1) 933
(3) 915

(2) 890
(4) 940

Which of the following is false
statement ?

(1) “A’ blood group
individuals have ‘B’
antibodies

(2) ‘B’ blood group
individuals  have " ‘A’
antibodies

(3) ‘AB’ blood group

individuals-have “A" antigen
and ‘B antibodies

(‘i) ‘0" ‘blood group individuals
have.both *AB’ antibodies

Oxygen carrying capacity of
human blood is reduced due to

the pollution of
(1) CO,
(3) SO,

2) CO
4) O3

73.

74.

76.

(21 -D)

What do all vertebrates have in

common ?

(1) They are cold-blooded.

(2) They have an
skeleton.

(3) They have backbone.

(4) They have both internal
skeleton and backbone.

internal

What percentage of earth’s
water is fresh-water ?

(1) 10% (2) 3%
(3) 1% 4) 8%

.. The first Indian language to get

classical language status from
the Government of India is

(1) Hindi (2) Tamil
(3) Sanskrit (4) Bengali

Match the following :
A. Java 1.  Canada
B. Honshu ii. Indonesia
C. Victoria iii. Australia
[sland
D. Tasmania iv. Japan
A B C D

(M i ivodi i
(2) i i i v
(3) i iv i

4) v w1 i
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The financial committee/s of the
parliament

(1) The Estimates Committee
(2) The |

et

Public  Accounts
Committee

(3) The Committee on Public
Undertakings

(4) All the above

Right to Property was deleted
from the Constitution by which
amendment ?

(1) 42" Amendment
(2) 44" Amendment
(3) 40™ Amendment
(4) 47" Amendment

The Directive Principles of
State  Policy have  been
borrowed from
Constitution.

(1) American', (2) British

(3) Switzerland (4) Ireland

How many Fundamental Duties
have been given in the Indian

Constitution ?
() 10 (2) 12
(3) 11 (4) 16

81.

82.

83.

84.

85.

(23-D)

Untouchability is abolished by

Article of the Indian
Constitution.

(1) 14 (2) 16

(3) 17 (4) 19

On which River Bhakhra Dam
is constructed ?

(1) Ganga

(2) Sindhu

(3) Sutlej

(4) Brahmaputra

The Indian Constitution
declares that no person should
be deprived of his life or liberty
without due process of law.
Which Article deals with this ?

(1) Article 14 (2) Article 16
(3) Article20 (4) Article 21

Who decides the Bank Rate ?
(1) Central Government

(2) Finance Ministry

(3) RBI

(4) Ministry of Commerce

The total number of members in
the Legislative Council should
not exceed of the total
number of members in the
Legislative Assembly.

(1) 122 (2) 3/4

(3) 2/3 4) 1/3



86. iRdod P ploNevinslel<1J!
oM intajiateleln] ¥OTROT TEoS.

(1) Regg ¢Sendos
(2) 2% DEBeNDoT
(3) RNod Bo3Tavdos
(4) ReREONDMT

87. 1 BUNSYvy Broodl LD,

@y-A a:%B
A. TYodnd2 1. uoa)dassﬂ‘ 33
R=lelary]
B. Qe 1. egen,
ﬁt&@;é’)o&o,
djﬁsﬁ e
C. omyle 38 iii.zN3 38
D. m® 1V.200 ©0300%
30dod
Jawdod
LTI B
A B C D
() v 1o
(2) v i 1
3) 1 noo v
4) 1 i v I
88. eeﬁ'sfﬁai@r\’sfaig‘t DR0OL 3AND.
iﬁq‘-A ab’i.z-B
A.«Bozazs® . QY PO
B. mmm@ 1. 3ord
C. Jeoy iii.emﬁcé
D. YOZT FReT  1V. ARETITIRND
eﬁa
A B C D
() v 1 11
(2) 1 iv i i
3) 1 il oiv 1
(4) 1 O T R AV

89. dreoxy ©PT oS TonT
BRO, FFoow =T wdzun
QBUIOND ?

(1) ggoow widodos-Il

(2) 3FPoom waodot-1IV
(3) oDVTTIH 2BODHTT
(4) 23900 wzoHTE-1X

90. odwe  TFLRROHI
263" 0T T80T

(1) SR SFeken
(2) Eot-Degreod CIpANCIAY
3) d%a‘ q;gz.ma:

‘2IOVER

(4) BR-2WEY SRR

91. & FUNTPrIvsy Beod WL,

iSi.z-A sdi%-B
A. st worms . RO
(2%,3) 33
B. wod g i Zaleegs, 33
C. méoﬂaw iii.&)daéé" BODTTD
o3
D. &7 ¢ IV. 008, W3 Snes
nY gmodd
A B C D
(I 1w i 1 gy
(2) 1 i i v
(3) 1 i iv i
4) v dioi g

69 (24 -D)



8.

§8.

69

Farth atmosphere «

get
emperature from
(1) Solar radiation
(2) Earth radiation
(3) Geothermal
(4) Volcanoes
Match the following :
List — A List- B
A. Fossil Fuel i, Hydro
Electric
power
B. Water 1. Coal,
Petroleum,

Natural gas

C. Geothermal 1ii. Wind energy

D. Wind iv. Energy from
earth heat

A B C D
(1) iv i i 1
(2) iv i i i
3) i i dov
4) i 1 iv il

Match the following :

List — A List— B
A. Punjab i+ Small
cereals
B. Maharashtra ii. Coconut
C. Kerala iii. Potato |
D. Uttar iv. Sonamasuri
Pradesh Rice
A B C D
(1) iv i i i
(2) i v 1 i
3) i i 1V i
4y i i WV

89. The

90.

91.

(25 - D)

Krishna Raja  Sagara
(K.R.S.) dam was named after
which ruler of Mysore

(1) Krishnaraja Wodeyar - 1
(2) Krishnaraja Wodeyar — 1V
(3) Jayachamaraja Wodeyar

(4) Chamaraja Wodeyar — IX

Which plateau is called Bayalu
Seeme ?

(1) Mysore Plateau
(2) Karbi~— Meghalaya Plateau
(3) Deecan Plateau

(4) . Deccan — Odyessey Plateau

Match the following :

List — A List- B
A. Mica . Aluminium
Industry
B. Bauxite 1. Thermal
Industry
C. Manganese iii. Electric
Industry
D. Lignite iv. Steel alloys
Industry
A B C D

() w0 v
(2) 1 i v
(3) 1 iv i
(4) v diod i
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(1) oEdden  (2) 3gden

(3). |vomo (4) oo p°

3 AT oo 03w

WIS BISDHIN

TITLITTOONR / FITLITTOE ) ?

a. p3 PREY 3oz
DSVl Eplatelln WG
Joedny  movd  wIoR
BTRERD.

b g 3y sy wa
ADEJeNvplaf BodoHd
2ReQATD.

C. WPg Woprivd 4 cohone
BRI,

SRS solyMon RO wogosy
roTh3R0. |

(1)
)
3)
(4)

a2 b 3w,
b w3,
b&mmacaﬁa%
a,bznec
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Match the following :
List -1

_ - List - 1
(Railway) (Regional
Offices)
A. S.W.R. (South i. New Delhj
Western
Railway)
B. C.R. (Central ii. Chennai
Railway)
. SR 111, Hubli
(Southern
Railway)
D. N.R. ‘Iv. Mumbai
(Northern
Railway)
A B C D

(1) i v o
(2) i i i
(3) iv i1 1

(4) i iv i

Which of the following region/s
was/were included within_the
spatial spread of the Harappan
Civilization ?
a.  Punjab,

Baluchistan
b. Haryana and Western parts

of Uttar Pradesh
¢. Rajasthan and Gujarat |
Select the correct answer using
the following codes :
(1) aonly
(2) aandbonly
(3) aandconly
(4) a,bandc

Sindh &

(27-D)

9%94.

9s.

96.

Who among the following was
the author of Harshacharita
which is an important source for
the early history of the rule of
Harshavardhana ?

(1) Banabhatta (2) Bilhana

(3) Bhasa (4) Shudraka
Which of the following centres
of higher education , was

patronized by Harshavardhana :
(1) Vikramashila

(2) Taxila

(3) Nalanda

(4) Ujjain

Which of the following factor/s
led to the popularity of
Buddhism ?

a. Simplicity of the teachings
of Buddha attracted the
people as the Vedic
religion had become very
complex.

b. Buddha preached
thoughts in Pali,
language of the people.

his
the

c. Women were also allowed
in the Buddhist Sangha.

Select correct answer using
codes given below :

(1) aandbonly
(2) bonly

(3) bandconly
(4) a,bandc
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98.

69

83390 daﬁezfdd
(88¢) TING Do DISINWh

(1) d.:aoi;;-"d:, FoFTSCODTY,
modﬁm

(2) BoT3eoHTH, Reay)ady,
BROHYTH

(3) oo B0, REJHeaTD,
FOTSLODTD

(4) Zo0BT, BROHYD,
REFYHcaTd

CATTT BHOSTPR Towodr B

IINS o BedBedIned
ROoIND/a 2

a. BHIVoD PrReedB N%YT
mg’mﬁoﬁaha}

b. dpébrf%, TONEBTD,
BOBUTETID, méman'vb

DTS F3 FROTOIRYRY,

BT I ToDesodlD

C. wzvd WL ed
AINSERAZOD TR5ee
VR BN,

. IYAI &eo&)&n’%d 80333 =0
ET TOTHSA.

(D) a N3,
(2) 2R b w3,
(3) baﬁosa_pcabag

(4) a,bmnac

99. 1930-31.3 moridE PRETIT WDHSROD

TODITDMED cINYBVOID) ?
201 TSR NTITH

b. aded wy DR DES

uaomp

C. oISTOOT WTE H0WOZT
IR
YN wodnPor o3 A YUIT
TWTO3A.
(1) azws,
- (2) baws,
(3) axorwe b =503,
(4). a,bmrwc

100. 1919 © 279038 =cwoon Foodod
TOODEITY WPYRTL Yo
AT woleenmy  yRosw
TIHSOD  ROFVINGD o3
Fo0693, /59T ean P WHRDAT) ?

a. AR woleeny) o
QT3 eso&.raerﬁﬁ
WTZTNY,

b. SDDIADICiF oL Dle]n m%}eo:b

ﬁeaéo:bagl B PUTORCR
WA,

C. AR Bolemad yodeod
REROIR ATOY.

YA Bo&:ﬁ@ow Yo "D I3
™SR,

(1) azws,

(2) a=d3ybawg,
(3) bms_:ncm%
() abawyc

(28 - D)
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98.

n which of the followihg powers

ruled as the feudatories of the
Chalukyas of Kalyan 2

(1) Hoysalas, Kakatiyas and
Pandyas -

(2) Kakatiyas, Sevunas and
Hoysalas

(3) Pandyas, Sevunas and
Kakatiyas

(4) Pandyas, Hoysalas and
Sevunas

Which  of the statement/s

regarding the Non Co-operation
Movement given below is/are
correct ?

a. The spatial spread of the

Movement was
nationwide.

b. Its reach among the
peasants, workers, artisans,
traders ~and other
professionals was
demonstrated.

c. There was tremendous
participation of  the

Muslims in'it.
Select the correct answer using
the codes given below

(1)
(2)
3)
(4)

a only
a and b only
b and c only

a,bandc¢

(29 - D)

99. The

100.

Civil Disobedience

Movement of 1930-31 resulted

in

a. Non-payment of taxes
Boycotting of  Foreign
cloths and liquor

c. Widespread
protests by the youth

Select the correct answer using

the codes given below :

(1) aonly

(2) bonly

(3) aand b only

(4) a,bandc

violent

The' Simon Commission which
was appointed to enquire into
the working of the Government
of India Act of 1919 was
boycotted by political
organizations in India because

a. The Commission was
against an All India
Commission.

b. It ignored the national
demand for a respoﬁsible
government.

¢. The Commission had no
Indian in it.

Select the correct answer using
the codes given below :

(1
(2)
3)
(4)

a only

a and b only
b and c only
a,bandc
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